				IMARY ONS 1 - 3	3		PRIMARY SECTION 4	SECONDARY SECTION 4			
No Secondary Award for Sections 1-3 because only one bid received  Grovestreet Auto & Key deemed non-responsive for not signing			LOCK TIGHT		TY, INC.	SENTRY SE	CURITY FASTENERS, INC.	WESTERN DETENTION PRODUCTS			
Adde	Addendum #1			ler, TX			Peoria, IL		eer Park, WA		
			HUB:		No	HUB:	No	HUB:	No		
			Co-Op:	Y	es es	Co-Op:	Yes	Co-Op:	Yes		
Item	m Description		Unit	E	Ext	Unit	Ext	Unit	Ext		
	Section 1: Locksmith Hourly Rates and	Respon	se Time								
1	SERVICE CALL	200	\$ 87.50	\$ 1	17,500.00	No Bid	No Bid	No Bid	No Bid		
2	Labor Rate for Locksmith Service ( billed in 1/4 hour increments after 1st hour) Regular Hourly Rate, Monday-Friday 8:00am to 5:00pm	180	\$ 82.50	\$ 1	14,850.00	No Bid	No Bid	No Bid	No Bid		
3	Labor Rate for Locksmith Service ( billed in 1/4 hour increments after 1st hour) Overtime Hourly Rate, Monday-Friday 5:01pm to 7:59am	16	\$ 125.00	\$	2,000.00	No Bid	No Bid	No Bid	No Bid		
4	Labor Rate for Locksmith Service ( billed in 1/4 hour increments after 1st hour) Weekends and Contractor Recognized Holidays Hourly Rate	4	\$ 160.00	\$	640.00	No Bid	No Bid	No Bid	No Bid		
5	LIST NUMBER OF TRAINED PERSONNEL THAT YOUR FIRM CURRENTLY EMPLOYS			1			No Bid	No Bid			
6	LIST MAXIMUM RESPONSE TIME FOR STANDARD CALL		3 H	Hours			No Bid		No Bid		
7	LIST MAXIMUM RESPONSE TIME FOR EMERGENCY CALL		2 H	Hours			No Bid	No Bid			
8	WARRANTY ON PARTS AND SERVICES - NUMBER OF DAYS	S	90	Days			No Bid		No Bid		
	Subtotal Se		\$	3	34,990.00		No Bid	No Bid			
	Section 2: Key Duplicates	s									
9	KEY DUPLICATION, SINGLE CUT	15	\$ 4.00	\$	60.00	No Bid	No Bid	No Bid	No Bid		
10	KEY DUPLICATION, DOUBLE CUT	15	\$ 2.75	\$	41.25	No Bid	No Bid	No Bid	No Bid		
11	KEY DUPLICATION, TUBLAR	5	\$ 4.00	\$	20.00	No Bid	No Bid	No Bid	No Bid		
12	KEY DUPLICATION, BEST	500	\$ 2.60	\$	1,300.00	No Bid	No Bid	No Bid	No Bid		
13	REKEY/CHANGE - KEY IN KNOB	100	\$ 18.50		1,850.00	No Bid	No Bid	No Bid	No Bid		
14	CODE CUT KEY	35	\$ 16.50	<u> </u>	577.50	No Bid	No Bid	No Bid	No Bid		
15	MASTER KEY CYLINDER CHANGE	10	\$ 21.50		215.00	No Bid	No Bid	No Bid	No Bid		
	Subtotal Se				4,063.75		No Bid		No Bid		
	Section 3: Materials & Supplies % Discount Off List F	Price or	% Markup From	1 Cost							
16	CORBIN RUSSWIN LOCKS, DOOR HARDWARE - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST		45% Marki	up From	Cost		No Bid	No Bid			
17	CORBIN RUSSWIN CYLINDER AND LOCK, 8027-P6A2*626, ML20900 ECL or approved equal BRAND/PART# BID: Lock Tight bid: P6A2-626-8022	100	\$ 12.32	\$	1,232.00	No Bid	No Bid	No Bid	No Bid		

				PRI SECTI	MAR ONS	30.53		PRIMARY SECTION 4	SECONDARY SECTION 4			
No Secondary Award for Sections 1-3 because only one bid received  Grovestreet Auto & Key deemed non-responsive for not signing			LOCK TIGHT SECURITY, INC.					CURITY FASTENERS, INC.	WESTERN DETENTION PRODUCTS			
	Addendum #1			Kel	ler, T	X		Peoria, IL	Deer Park, WA			
			HUB:		No		HUB:	No	HUB:	No		
				Co-Op:		Yes	Co-Op:	Yes	Co-Op:	Yes		
Item	Description	Qty		Unit		Ext	Unit	Ext	Unit	Ext		
18	CORBIN RUSSWIN KEYS - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST			45% Markı	ıp Fr	om Cost		No Bid		No Bid		
19	CORBIN RUSSWIN KEY BLANKS, PK11 or approved equal BRAND/PART# BID: Lock Tight bid: PK11	100	\$	12.32	\$	1,232.00	No Bid	No Bid	No Bid	No Bid		
20	MASTER LOCK PADLOCKS - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST			45% Markı	ıp Fr	om Cost		No Bid	No Bid			
21	MASTER KEYS - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST		45% Markup From Cost					No Bid	No Bid			
22	MEDECO LOCKS, CYLINDERS, DOOR HARDWARE - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST		45% Markup From Cost					No Bid	No Bid			
23	MEDECO CYLINDER, 1-1/8" 6 PIN or approved equal BRAND/PART# BID: Lock Tight bid: 1-1/8" 6 PIN	100	\$	111.68	\$	11,168.00	No Bid	No Bid	No Bid	No Bid		
24	MEDECO KEYS - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST			45% Mark	up Fr	om Cost	·	No Bid	No Bid			
25	MUL-T-LOCK CYLINDERS, LOCKS, DOOR HARDWARE - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST			45% Mark	up Fr	om Cost		No Bid	No Bid			
26	MUL-T-LOCK KEYS - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST			45% Mark	up Fr	om Cost		No Bid	No Bid			
27	SCHLAGE CYLINDERS, LOCKS, DOOR HARDWARE - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST			45% Mark	up Fr	om Cost		No Bid	No Bid			
28	SCHLAGE KEYS - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST			45% Mark	up Fr	om Cost		No Bid		No Bid		
29	SCHLAGE PRIMUS LEVEL 3 CYLINDERS, LOCKS, DOOR HARDWARE - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST			45% Mark	up Fr	om Cost		No Bid		No Bid		

				PRI SECTION	MAF			PRIMARY SECTION 4	SECONDARY SECTION 4		
No Secondary Award for Sections 1-3 because only one bid received  Grovestreet Auto & Key deemed non-responsive for not signing			LOCK TIGHT SECURITY, INC.				SENTRY SE	CURITY FASTENERS, INC.	WESTERN DETENTION PRODUCTS		
Adder	ndum #1		Keller, TX					Peoria, IL		eer Park, WA	
				HUB:		No	HUB:	No	HUB:	No	
				Co-Op:		Yes	Co-Op:	Yes	Co-Op:	Yes	
Item	Description	Qty		Unit		Ext	Unit	Ext	Unit	Ext	
30	SCHLAGE PRIMUS LEVEL 3 KEYS - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST			45% Markı	ıp Fı	rom Cost		No Bid		No Bid	
31	VON DUPRIN ELECTRONIC STRIKES, CRASH BARS, DOOR HARDWARE - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST		45% Markup From Cost					No Bid	No Bid		
32	VON DUPRIN 99 CRASH BAR or approved equal BRAND/PART# BID: Lock Tight bid: VD99EO-36-26D	100	\$	1,318.18	\$	131,818.00	No Bid	No Bid	No Bid	No Bid	
33	VON DUPRIN 6100 SERIES ELECTRIC STRIKE or approved equal BRAND/PART# BID: Lock Tight bid: N/A	100	\$	756.50	\$	75,650.00	No Bid	No Bid	No Bid	No Bid	
34	ADAMS RITE ELECTRONIC STRIKES, CYPHER LOCKS - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST		45% Markup From Cost					No Bid	No Bid		
35	LCN DOOR CLOSURE - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST			45% Markı	ıp Fı	rom Cost		No Bid	No Bid		
36	ILCO KEY BLANKS - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST			45% Marku	ıp Fı	rom Cost		No Bid	No Bid		
37	ILCO KEY BLANK, 1011 or approved equal BRAND/PART# BID: Lock Tight bid: 1011 Key Blank	100	\$	2.85	\$	285.00	No Bid	No Bid	No Bid	No Bid	
38	SARGENT CYLINDERS, LOCKS, DOOR HARDWARE - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST			45% Markı	ıp Fı	rom Cost		No Bid	No Bid		
39	SARGENT KEYS - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST			45% Markı	ıp F	rom Cost		No Bid	No Bid		
40	SARGENT KEY BLANK LB or approved equal BRAND/PART# BID: Lock Tight bid: Sargent LB	100	\$	2.85	\$	285.00	No Bid	No Bid	No Bid	No Bid	
41	BEST CYLINDER, LOCKS, DOOR HARDWARE - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST			45% Markı	ıp F	rom Cost		No Bid		No Bid	
42	BEST KEYS, PADLOCKS - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST			45% Markı	ıp F	rom Cost		No Bid	No Bid		

				PRI SECTION	MAF	10.0		PRIMARY SECTION 4	SECONDARY SECTION 4		
No Secondary Award for Sections 1-3 because only one bid received Grovestreet Auto & Key deemed non-responsive for not signing			LOCK TIGHT SECURITY, INC.  Keller, TX  HUB: No					CURITY FASTENERS, INC.	WESTERN DETENTION PRODUCTS		
Adder	Addendum #1						HUB:	Peoria, IL No	Deer Park, WA HUB: No		
				Co-Op:		Yes	Co-Op:	Yes	Co-Op:	Yes	
	Description	05.			Unit	Ext	Unit	Ext			
Item	Description	Qty		Unit		EXL	Onit	EXI	Onit	EXI	
43	YALE CYLINDERS, LOCKS, DOOR HARDWARE - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST			45% Markı	ıp Fı	rom Cost		No Bid		No Bid	
44	YALE CYLINDER, 1152, 6 PIN 1-1/8" or approved equal BRAND/PART# BID: Lock Tight bid: 1152, 1-1/8", GA-626	100	\$	61.81	\$	6,181.00	No Bid	No Bid	No Bid	No Bid	
45	YALE KEYS, KEY BLANKS - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST			45% Markı	ıp Fı	rom Cost		No Bid	No Bid		
46	YALE KEY BLANK 998 or approved equal BRAND/PART# BID: Lock Tight bid: 998-NS	100	\$	2.85	\$	285.00	No Bid	No Bid	No Bid	No Bid	
47	TAYLOR CYLINDERS, LOCKS, DOOR HARDWARE - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST		45% Markup From Cost					No Bid	No Bid		
48	TAYLOR KEYS - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST			45% Markı	ıp Fı	rom Cost		No Bid	No Bid		
49	GENERAL DOOR CLOSURE - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST			45% Marki	ıp Fı	rom Cost		No Bid	No Bid		
50	GENERAL DOOR CLOSURE, NORTON T-39 or approved equal BRAND/PART# BID: Lock Tight bid: Norton 1601	100	\$	125.43	\$	12,543.00	No Bid	No Bid	No Bid	No Bid	
51	GENERAL DOOR CLOSURE, RIXSON SHALLOW DEPTH CLOSER #50/5113-ABC or approved equal BRAND/PART# BID: Lock Tight bid: 5104 NBC Non-Hold Open	100	\$	1,582.68	\$	158,268.00	No Bid	No Bid	No Bid	No Bid	
52	AMERICAN PADLOCKS - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST			45% Marki	ıp Fı	rom Cost		No Bid	No Bid		
53	FILE CABINET LOCKS - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST		45% Markup From Cost					No Bid	No Bid		

No Consider Award for Continue 4.2 hooses only one hid accessed					MARY ONS 1 - 3	3		PRIMARY SECTION 4	SECONDARY SECTION 4		
No Secondary Award for Sections 1-3 because only one bid received  Grovestreet Auto & Key deemed non-responsive for not signing		LC	CK TIGHT	SECURI	TY, INC.	SENTRY SE	CURITY FASTENERS, INC.	WESTERN DETENTION PRODUCTS			
	Addendum #1			Kel	ler, TX			Peoria, IL	Deer Park, WA		
				HUB:	No		HUB:	No	HUB:	No	
			(	Co-Op:	Y	'es	Co-Op:	Yes	Co-Op:	Yes	
Item	Description	Qty		Unit	E	xt	Unit	Ext	Unit	Ext	
54	FILE CABINET KEYS - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST			45% Marku	ıp From	Cost		No Bid		No Bíd	
55	CATERILLAR KEYS, KEY BLANKS - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST			45% Markı	ıp From	Cost		No Bid		No Bid	
56	CLARK FORK LIIFT KEYS, KEY BLANKS - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST			45% Marku	ıp From	Cost		No Bid	No Bid		
57	JOHN DEER KEYS, KEY BLANKS - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST			45% Marku	ıp From	Cost		No Bid	No Bid		
58	KOMATSU KEYS, KEY BLANKS - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST			45% Markı	ıp From	Cost		No Bid	No Bid		
	BLUE DOG KEYS, KEY BLANKS - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST			45% Markı	ıp From	Cost		No Bid	No Bid		
60	SKYTRAC KEYS, KEY BLANKS - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST			45% Markı	ıp From	Cost		No Bid	No Bid		
61	KNOX BOX (BOX FOR KEYS) 3200 SERIES or approved equal BRAND/PART# BID: Lock Tight bid: 3262 BLK	100	\$	635.10	\$ 6	3,510.00	No Bid	No Bid	No Bid	No Bid	
62	MISCELLANEIOUS MATERIALS AND SUPPLIES NOT LISTED - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST		45% Markup From Cost					No Bid	No Bid		
	SECTION 3 ARO DELIVERY LEAD TIME: F							No Bid No Bid	No Bid		
	Subtotal S GRAND TOTAL (Sectio							No Bid	No Bid No Bid		

No Secondary Award for Sections 1-3 because only one bid received  Grovestreet Auto & Key deemed non-responsive for not signing			IMARY ONS 1 - 3			PRIMARY SECTION 4	SECONDARY SECTION 4					
				SECURITY, INC.	s		CURITY FASTENERS, INC.	WESTERN DETENTION PRODUCTS				
Adde	Addendum #1			ler, TX	-		Peoria, IL	Deer Park, WA				
			HUB:	No		HUB:	No		HUB:	No		
			Co-Op:	Yes		Co-Op:	Yes		Со-Ор:	Yes		
Item		Qty	Unit	Ext		Unit	Ext		Unit	Ext		
Se	ection 4: Detention Center Materials & Supplies % Discount	Off List	Price or % Mar	kup From Cost								
FOLGER ADAMS LOCKS, HARDWARE - 63 % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST		N	o Bid		30% Disc	ount Off List Price		37% Markup From Cost				
64	FOLGER ADAMS KEYS, KEY BLANKS - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST		N	o Bid		30% Disc	ount Off List Price		37% Markup From Cost			
65	SOUTHERN STEEL LOCKS, HARDWARE - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST		No Bid			30% Disc	ount Off List Price	37% Markup From Cost				
66	SOUTHERN STEEL TUMBLER #7, 1010A/1017A/1080A, ITEM# 960300 or approved equal BRAND/PART# BID: Sentry bid: SS-960300 Western bid: SS-960300	100	No Bid	No Bid	\$	35.87	\$ 3,587.00	\$	24.66	\$ 2,466.00		
67	SOUTHERN STEEL TUMBLER #8, 1010A/1017A/1080A, ITEM# 960301 or approved equal BRAND/PART# BID: Sentry bid: SS-960301 Western bid: SS-960301	100	No Bid	No Bid	\$	35.87	\$ 3,587.00	\$	24.66	\$ 2,466.00		
68	SOUTHERN STEEL KEYS, KEY BLANKS - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST		N	o Bid	30% Discount Off List Price				37% Markup From Cost			
69	SOUTHERN FOLGER RETRO LOCKS - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST		N	o Bid		30% Disc	ount Off List Price	37% Markup From Cost				
70	SOUTHERN FOLGER LOCKS, HARDWARE - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST		N	o Bid		30% Disc	ount Off List Price		37% M	arkup From Cost		
71	SOUTHERN FOLGER LOCK, NS402E-04 RHRB or approved equal BRAND/PART# BID: Sentry bid: NS402E-04 RHRB Western bid: NS402E-04 RHRB	100	No Bid	No Bid	\$	2,007.60	\$ 200,760.00	\$	1,964.58	\$ 196,458.00		
72	SOUTHERN FOLGER LOCK, 10120 AMDNL-2 or approved equal BRAND/PART# BID: Sentry bid: 10120 AMDNL-2 Western bid: 10120 AMDNL-2	100	No Bid	No Bid	\$	1,822.80	\$ 182,280.00	\$	1,920.74	\$ 192,074.00		
73	SOUTHERN FOLGER KEYS, KEY BLANKS - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST		N	o Bid		30% Disc	ount Off List Price	37% Markup From Cost				

			(8.78788	MARY DNS 1 - 3			PRIMARY SECTION 4	SECONDARY SECTION 4			
	No Secondary Award for Sections 1-3 because only one bid received  Grovestreet Auto & Key deemed non-responsive for not signing		LOCK TIGHT	SECURITY, INC.	SE	NTRY SE	CURITY FASTENERS, INC.	WESTERN DETENTION PRODUCTS			
	ndum #1		Kel	ler, TX			Peoria, IL		De	er Park, WA	4
			HUB:	No		HUB:	No	1	HUB:		No
			Co-Op:	Yes	C	o-Op:	Yes	С	Co-Op:		Yes
Item	Description	Qty	Unit	Ext		Unit	Ext		Unit		Ext
	SOUTHERN FOLGER PARACENTRIC KEYS, 969600525 or										
74	approved equal BRAND/PART# BID: Sentry bid: 969600525 Western bid: 969600525	100	No Bid	No Bid	\$	29.40	\$ 2,940.00	\$	50.50	\$	5,050.00
	SOUTHERN FOLGER MOGUL CYLINDER KEYS - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST		No	o Bid	15% Discount Off List Price				37% Markup From Cost		
76	SOUTHERN FOLGER SSCO MOGUL KEY, M, CUT TO CODE M1 or approved equal BRAND/PART# BID: Sentry bid: 76760261 Western Detention bid: 963213	100	No Bid	No Bid	\$	52.70	\$ 5,270.00	\$	42.47	\$	4,247.00
77	SOUTHERN FOLGER SSCO EB-39 ASSA CUT TO CODE M13 or approved equal BRAND/PART# BID: Sentry bid: 76760301 Western Detention bid: 963401	100	No Bid	No Bid	\$	52.70	\$ 5,270.00	\$	42.47	\$	4,247.00
78	BRINKS MOGUL CYLINDER KEYS, 201070 or approved equal BRAND/PART# BID: N/A	100	no bid	no bid		no bid	no bid	r	no bid	n	o bid
79	R.R. BRINK LOCKING SYSTEM, AC5020 or approved equal BRAND/PART# BID: N/A	100	no bid	no bid	1	no bid	no bid	r	no bid	n	o bid
80	DETENTION CENTER MISCELLANEIOUS MATERIALS AND SUPPLIES NOT LISTED - % DISCOUNT OFF LIST PRICE OR % MARKUP FROM COST		No Bid			40% Markup From Cost			37% Markup From Cost		
SECTION 4 ARO DELIVERY LEAD TIME:			No Bio				R STOCK ITEMS, 120 R FACTORY ITEMS	5 - 7 DAYS FOR IN-STOCK ITEMS			
	GRAND TOTAL (Se	ction 4)	l N	o Bid	\$		403,694.00	\$ 407,008.00			